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@ V24+V3< 1+ V2<V5+ 2
@ V2+ V3<Vh+V2<1+4 V2
@ 14+ V2< Y5+ V2<V2+ V3
@1+ V2< v+ VB<\5+ V2
® Vo+ V2< V2+ V3<1+ V2

B

1+ V2-(V2+ V3)=1-V3<0

L1+ V2<V2+ V3

V2+ V8- (VB+ v2) = V3-V5<0
SV2ZH VB3< VB+ V2

THEFA 1+ V2 < V2+ V3 < VB + V2 otk




2. V72+2V8- V50 =aV2 oA a 9] Ft=& Fotofeh

V6x6x2+2V2x4— V5Ex5x%2
=6V2+4V2-5V2=5V2
5vV2 =aV20]B2

La=>5




3. EOVIOh = AV 2V6 = VB & 1, B4 9] & Foledel,

V30 V105 = V30 x 105 = V225 x 14
=15vV14 = AV14

2V6 = VAx6 = V24 = VB
w2t A =15, B=24 |22 B- A = 9o|t},




5- V2O A4 BESa &5 RES b AT T, a-b 9] U

1<V2<2=>-2<-V2<-1
= -245<5-V2<-1+5
=3<5-V2<14

La=3,b=5-VY2-3=2-2
T a-b=3-(2-12)
=3-2+12
=1+ 12
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D a-b>0 @ b-a<0
@ ab>0 @a+1>0

FAFab7ta=8-3,b=-VT+ B I s F &2
A

® b+ V7>3

a-b = \/5—3—(—\/74- \/§)
@ = V7-3
=V7-v9<0
La—-b<0
b-a=-VT+ V8- (V8-3)
@ =-V7+3
=V9-V7>0
o b—a>0
@ FHM)=b+ VT =-V7+ VB8+ V7= V8
($H)=3= 9
L b+ V7<3
@a=V8-3=V8-V9<0
b= V8- V7>0
soab <0
a+1=(V8-3)+1
® = V8-2
= V8- V4>0

La+1>0




